240 160 180
40 x 6, 60 = 4 80x2,20x8 90x2,20x%9
30x8,80x3 40x4 60x3,30x%6

120 =2, 12 = 20

120 360 720
30=4,40=3 90 =4, 40=9 60 =12 120=6
20=6,60=2 120 = 3, 12 = 30, B0=9,90=x8B

ol =6

1) Thomas is not correct. He has not understood that, when one of the numbers in the
calculation that he wants to solve is ten times bigger, then the answer will also be ten times
bigger. He has worked out that the answer to 8 x 5 is 40. He now needs to multiply the
answer by 10 to calculate 80 x 5, as 80 is ten times larger than 8.




